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CHEMISTRY

BOOKS - MAXIMUM PUBLICATION

REDOX REACTIONS AND RATE OF
CHEMICAL REACTIONS

1. What is the relation between the total mass

of the reactants and the total mass of


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
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products ?

Situation| Mass of Relations |. Mass of Product
| Hydrogen| Oxygen
2g 16g 18g
-4 49 329 36g

o Watch Video Solution

2. A piece of magnesium is burned in air. What

do you observe ?

° Watch Video Solution



https://dl.doubtnut.com/l/_QTAX6X3Y09NH
https://dl.doubtnut.com/l/_RplW1hmutzEi

3. A piece of magnesium is burned in air.

What is the white powder formed ?

o Watch Video Solution

4. A piece of magnesium is burned in air.

Which are the reactants here ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LgB9NEuM9f6V
https://dl.doubtnut.com/l/_SxJI0G2RVZIR

5. A piece of magnesium is burned in air.

Which is the product ?

° Watch Video Solution

6. Is the number of atoms of each element

equal on both sides ?

Total number of atoms | Total number of atoms
in the reactant side in the product side
Mg o. Mg 5
1 2 1 1

o Watch Video Solution



https://dl.doubtnut.com/l/_tUHDFOb79SQB
https://dl.doubtnut.com/l/_3h9C7FBLw50w
https://dl.doubtnut.com/l/_Fc2AFn98WxFP

7. How will you represent two molecules of

magnesium oxide ?

Lo

o Watch Video Solution

8. Now, is the number of magnesium atoms

equal on both sides ?

Total number of atoms | Total number of atoms
in the reactant side in the product side
Mg 0. Mg 0
1 2 1 1

o Watch Video Solution



https://dl.doubtnut.com/l/_Fc2AFn98WxFP
https://dl.doubtnut.com/l/_d4VE0VYXZmxY

9. Is the total number of atoms of each
element in the molecules present in the

reactant side and that in the product side

equal in this equation ?

Total number of atoms | Total number of atoms
in the reactant side in the product side
Mg 0. Mg 0
1 2 1 1

o Watch Video Solution

10. What is balancing of equations ?

| =



https://dl.doubtnut.com/l/_d4VE0VYXZmxY
https://dl.doubtnut.com/l/_npSOL4ncpWsO
https://dl.doubtnut.com/l/_9JVuHyRDBB1n

I &9 Watch Video Solution

11. Balance the chemical equation

H2 —|—02 — HQO

o Watch Video Solution

12. Balance the chemical equation

Al + 02 — Al203

o Watch Video Solution



https://dl.doubtnut.com/l/_9JVuHyRDBB1n
https://dl.doubtnut.com/l/_y26JBaGGWSoX
https://dl.doubtnut.com/l/_hFmOg621UJg1
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13. Balance the chemical equation

H2 —I—OQ — HQO

o Watch Video Solution

14. Some chemical equations are given below.
Note down the number of reactant atoms and
that of product atoms in the table given
below.

. C+0y = COy 2. Ny+ Hy — NHy 3.
2H,05 — 2H50 + Oy 4. 509 + Oy — S04

5. BaC’l2 + HQSO4 — BCLSO4 + 2HCI


https://dl.doubtnut.com/l/_TdGKHMqDaeFQ
https://dl.doubtnut.com/l/_CzNbjkFWEGEh

Balance the equations which are unbalanced.

L&

° Watch Video Solution

15. The electronic configuration of magnesium
and chlorine are 2, 8, 2 and 2, 8, 7 respectively.
How many electrons does a magnesium atom

donate ? What charge will it get ?

o Watch Video Solution



https://dl.doubtnut.com/l/_CzNbjkFWEGEh
https://dl.doubtnut.com/l/_tJKHbHoiQpUU

16. Let us complete the equation for this

process,

o Watch Video Solution

17. How many electrons are accepted by each
chlorine atom ? What will be the charge

acquired by each atom ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Cn7gGxgJqjJX
https://dl.doubtnut.com/l/_2301hThexp3q
https://dl.doubtnut.com/l/_LNKJ946AsSwy

18. Complete the equation of this process.

Cl+1lem — .oeeenn...

o Watch Video Solution

19. What are oxidation and reduction ?

o Watch Video Solution

20. In the above chemical reaction, Which

atom is oxidised ?


https://dl.doubtnut.com/l/_LNKJ946AsSwy
https://dl.doubtnut.com/l/_1CjMQWQ8bzPq
https://dl.doubtnut.com/l/_EJgurPVrDfvK

2502 + 02 — 2303

o Watch Video Solution

21.Cl +1le~ 7 Cl'—

which atom is reduced ?

° Watch Video Solution

22.Cl +1le” 7 ClI'~
Which is the oxidising agent in this chemical

reaction ?


https://dl.doubtnut.com/l/_EJgurPVrDfvK
https://dl.doubtnut.com/l/_ymQZNZt7YHnO
https://dl.doubtnut.com/l/_gf57UEDC8HsX

° Watch Video Solution

23. 2502 + 02 — 2503
Which is the reducing agent in this chemical

reaction ?

° Watch Video Solution

24. Analyse the following equations and list

the oxidised atom, reduced atom, oxidising


https://dl.doubtnut.com/l/_gf57UEDC8HsX
https://dl.doubtnut.com/l/_LgARHxVuh3jD
https://dl.doubtnut.com/l/_2gy59Wa3RsJX

agent and reducing agent.

Mg—l— F2 — MgF2

° Watch Video Solution

25. Analyse the following equations and list
the oxidised atom, reduced atom, oxidising

agent and reducing agent.

2Na + Cl — NaCl

o Watch Video Solution



https://dl.doubtnut.com/l/_2gy59Wa3RsJX
https://dl.doubtnut.com/l/_cvSda8IIJP6I

26. Analyse the following equations and
complete the table given below

1. Mg— Mg>" +2~ F+1le °F 2.
Na — Na™ + le” Cl+1le — Cl 3.

Fe — Fe?T + 2~ O+2~ — 0*>~

Equation of Reducing| Equationof  |Oxidising
D:ddajjan agent reduction agent
Mg — Mg*+2e{ Mg F+le > F F
Na— Na'+le Na Cl+1e— CICI| CI
Fe>Fe*+2e | Fe |O+2¢ 0% | O

o Watch Video Solution



https://dl.doubtnut.com/l/_NuWxlkMtPZKE

27. Consider the equation Hy + Clys — 2HCI
What is the oxidation number of hydrogen in

H,?

o Watch Video Solution

28. Consider the equation Hy + Cly — 2HC(CI
What is the oxidation number of chlorine in

Cl,

o Watch Video Solution



https://dl.doubtnut.com/l/_NVXbnFddQmj2
https://dl.doubtnut.com/l/_7MvrGdZPpqrR
https://dl.doubtnut.com/l/_z76TC2JZzekI

29. Consider the equation Hy + Cly — 2HC(CI
In the reaction, does the oxidation number of

hydrogen increases or decrease ?

o Watch Video Solution

30. Consider the equation Hy 4+ Cly — 2HCI
What changes takes place in the oxidation

number of chlorine ?

o Watch Video Solution



https://dl.doubtnut.com/l/_z76TC2JZzekI
https://dl.doubtnut.com/l/_xUt0MFiOKjPu
https://dl.doubtnut.com/l/_ZVPIIP4Rvr7h

31. What are oxidation and reduction on the

basis of change in oxidation number ?

° Watch Video Solution

32. Consider the equation Hy + Cly — 2HCI
During the formation of hydrogen chloride,

Which atom was oxidised ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZVPIIP4Rvr7h
https://dl.doubtnut.com/l/_2gu0Fv71FQjF

33. Consider the equation Hy + Cly — 2HC(CI

Which Is the reducing agent ?

° Watch Video Solution

34. Consider the equation Hy + Cly — 2HCI

Which atom was reduced during this reaction

?

° Watch Video Solution



https://dl.doubtnut.com/l/_PFfVab2njEKj
https://dl.doubtnut.com/l/_kA9cKig03yng

35. Consider the equation Hy + Cly — 2HCI

Which is the oxidising agent ?

o Watch Video Solution

36. Analyse oxidation numbers in the given
equation and list the oxidising agent and

reducing agent in the tabel given below.

a o -2
C+0z2: - CO:

Element | Oxidation | Oxidation | Oxidation/
number number reduction
before the | afterthe happened
reaction reaction

c 0 +4 Oxidation

O 0 2 Reduction’



https://dl.doubtnut.com/l/_AOBagTuSIP62
https://dl.doubtnut.com/l/_7rr6g0YH4jyF

I &9 Watch Video Solution I

37.The Oxidised atom is .......

-1 +2' -1

Zn+2HCI1 —:-EnGI }- Hz

° Watch Video Solution

38. The oxidation number of hydrogen

increases/ decreases from ......... to ...

+1 -1 +2' -1

Zn+2HCI1 —}ZnGI }- Hz

| €8 |


https://dl.doubtnut.com/l/_7rr6g0YH4jyF
https://dl.doubtnut.com/l/_kT54R6oR47WA
https://dl.doubtnut.com/l/_jrYDYAjGbuql

| ¥ Watch Video Solution J

39. How do you determine the oxidation

number of sulphur in H,50, ?

° Watch Video Solution

40. Find the oxidation number of Mn in
KMnQO, (oxidation number of K is +1,

oxidation number of 0 is — 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_jrYDYAjGbuql
https://dl.doubtnut.com/l/_8eDIC1fdgeie
https://dl.doubtnut.com/l/_9pSJDzbXwvxd

41. Find the oxidation number of Mn in

M’I’LOQ

o Watch Video Solution

42. Find the oxidation number of Mn in

Mn203

o Watch Video Solution



https://dl.doubtnut.com/l/_8jAmFlWufo8M
https://dl.doubtnut.com/l/_dFi79rb4wsDY

43. Find the oxidation number of Mn in

M’I’L207

o Watch Video Solution

44.What is Redox reaction ?

o Watch Video Solution

45. What are the methods usually adopted to

make firewood burn faster ?



https://dl.doubtnut.com/l/_1crVY4bBQY07
https://dl.doubtnut.com/l/_zTCn6pqxKlmu
https://dl.doubtnut.com/l/_wz6pIFQkRmOa

o Watch Video Solution

46. Describe an experiment to prove that
nature of the reactants affect the rate of

chemical reaction.

o Watch Video Solution

47. Write an experiment to prove that

concentration of reactants affect the rate of

reacions ?

| & I


https://dl.doubtnut.com/l/_wz6pIFQkRmOa
https://dl.doubtnut.com/l/_p9dL4ft7m8ro
https://dl.doubtnut.com/l/_N8WphLt8xk7m

| ¥ Watch Video Solution |

48. Write your observation

Test tube 2 : ...............

o Watch Video Solution

49. Why rate of reaction increases when

concentration increases ?


https://dl.doubtnut.com/l/_N8WphLt8xk7m
https://dl.doubtnut.com/l/_nWaEYdFf7nDO
https://dl.doubtnut.com/l/_WOqot1XBHKX9

° Watch Video Solution

50. What is the relation between rate of
reaction and surface area. Write an

experiment to prove it.

° Watch Video Solution

51. Is there any difference in the rate of

reaction in the two beakers ?


https://dl.doubtnut.com/l/_WOqot1XBHKX9
https://dl.doubtnut.com/l/_mGiG9Y5VJftR
https://dl.doubtnut.com/l/_FuSNALdXdMY1

° Watch Video Solution

52. What about the concentration of acid in

both the reactions ?

° Watch Video Solution



https://dl.doubtnut.com/l/_FuSNALdXdMY1
https://dl.doubtnut.com/l/_GqFi6vFg8dnY
https://dl.doubtnut.com/l/_iRQyUHkQkJnH

53. What is the change in the rate of collision

when surface area increases ?

&2

° Watch Video Solution

54. Why rate of reaction increases when

surface area increases ?

o Watch Video Solution



https://dl.doubtnut.com/l/_iRQyUHkQkJnH
https://dl.doubtnut.com/l/_67TAY69mugnt

55. Write an experiment to prove the relation

between temperature and rate of reaction.

° Watch Video Solution

56. In which of the boiling tubes is the

precipitate formed faster ?

o View Text Solution



https://dl.doubtnut.com/l/_AADNp7CdGp5e
https://dl.doubtnut.com/l/_QsVI8RnPKC7x

57. What is the colour of the precipitate

formed ?

o View Text Solution

58. What is Threshold Energy ?

o Watch Video Solution

59. Write an experiment to prove the influence

of catalyst in a chemical reaction.



https://dl.doubtnut.com/l/_APyL2cXmTGIt
https://dl.doubtnut.com/l/_p5T8jbyEQoGn
https://dl.doubtnut.com/l/_QOdH475DfU8A

o Watch Video Solution

60. What are catalysts ?

o Watch Video Solution

61. Magnesium combines with chloride to form
magnesium chloride. The equation is given
below Mg + Cly — MgCl,

Write down the electronic configuration of

magnesium and chlorine

| & I


https://dl.doubtnut.com/l/_QOdH475DfU8A
https://dl.doubtnut.com/l/_Wng7GUSDnCjd
https://dl.doubtnut.com/l/_5M4WQ0bHiHVW

| ¥ Watch Video Solution |

62. Magnesium combines with chloride to
form magnesium chloride. The equation is
given below Mg + Cly — MgCl,

How many electrons are denoted by
magnesium. Write the chemical equation for

this process.

o Watch Video Solution



https://dl.doubtnut.com/l/_5M4WQ0bHiHVW
https://dl.doubtnut.com/l/_zhKRLk2UJvgE

63. Magnesium combines with chloride to
form magnesium chloride. The equation is
given below Mg + Cly — MgCl,

How many electrons are accepted by chlorine ?

o Watch Video Solution

64. Magnesium combines with chloride to
form magnesium chloride. The equation is
given below Mg + Cly — MgCl,

Write the chemical equation.

| & |


https://dl.doubtnut.com/l/_abdyX4YRk8eb
https://dl.doubtnut.com/l/_RQqg8qCIjB4n

| ¥ Watch Video Solution |

65. Explain oxidation, reduction, oxidising

agent and reducing agent ?

o Watch Video Solution

66. From the given chemical equation identify
the oxidising agent and the reducing agent by
writing the chemical equation of oxidation
and reduction

Mg—l— F2 — MgF2


https://dl.doubtnut.com/l/_RQqg8qCIjB4n
https://dl.doubtnut.com/l/_epdEfu4zUKxr
https://dl.doubtnut.com/l/_G6d8xrYXDOLt

° Watch Video Solution

67. From the given chemical equation identify
the oxidising agent and the reducing agent by
writing the chemical equation of oxidation

and reduction

2Na + Cl, — 2NaCl

° Watch Video Solution



https://dl.doubtnut.com/l/_G6d8xrYXDOLt
https://dl.doubtnut.com/l/_VTRxeoJsdySn

68. In the formation of hydrogen chloride does
the oxidation number of hydrogen increases

or decrease ?

H2-+ CI —— 2H*'CI

° Watch Video Solution

69. Whether the oxidation number of chlorine

decrease or increase ?

H2 -+ CIt —— 2H"'CI

| N |


https://dl.doubtnut.com/l/_WtScWW9HA9Dd
https://dl.doubtnut.com/l/_ohoIEqI4xmG9

| ¥ Watch Video Solution |

70. What is meant by Redox reaction ?

o Watch Video Solution

71. Calculate the oxidation number of 's' in

H>5047

o Watch Video Solution



https://dl.doubtnut.com/l/_ohoIEqI4xmG9
https://dl.doubtnut.com/l/_kLuYrlUpBQjo
https://dl.doubtnut.com/l/_PsPcsIUjaSId

72. Find the oxidation number of the ions in

ionic compound ?

o Watch Video Solution

73.Some chemical equations are given below
1)C + Oy — CO,

2)CH, + 205 — COy + 2H,0

3) Ny, + Oy — NO

4)CaCO3 — CaO + COy 5)Hy + I, — HI

6)Fe + HCl — FeCly + H,


https://dl.doubtnut.com/l/_XAXlSU41GYOy
https://dl.doubtnut.com/l/_i1GrFg6UXkIT

7)CO, + C — CO

Which of these are balanced equations ?

° Watch Video Solution

74.Some chemical equations are given below
1)C 4 05 — CO,

2)CH, + 205 — CO45 + 2H50

3) Ny + Oy — NO

4)CaCO3 — CaO + CO, 5)Hy + 1, — HI

6)Fe + HCl — FeCly + H,


https://dl.doubtnut.com/l/_i1GrFg6UXkIT
https://dl.doubtnut.com/l/_OBb2LJ4G3msI

7)CO, + C — CO

Balance the unbalance equations.

° Watch Video Solution

75. Some chemical equations are given below
1)C + Oy — CO,

2)CH, + 205 — CO45 + 2H50

3) Ny + Oy — NO

4)CaCO3 — CaO + CO, 5)Hy + 1, — HI

6)Fe + HCl — FeCly + H,


https://dl.doubtnut.com/l/_OBb2LJ4G3msI
https://dl.doubtnut.com/l/_ZBwaX5bAFCDD

7)CO, + C — CO

Which among these are redox reactions ?

° Watch Video Solution

76. The chemical reaction between marble and
dilute HCl Is given
CaCO3 4+ 2HCl — CaCly + H,0 + COq

Which gas is formed here ? How can you

identify this gas ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZBwaX5bAFCDD
https://dl.doubtnut.com/l/_JALUiMEGhqtY
https://dl.doubtnut.com/l/_51nQwWatcs2g

77.The chemical reaction between marble and
dilute HCl Is given
CaCO3; + 2HCl — CaCly, + Hy,O + CO,

Suggest any two ways you would choose to
incease the rate of this chemical reaction.

Explain the reason.

o Watch Video Solution

78. Sulphur pieces do not react with cold
concentrated nitric acid . But sulphur powder

reacts.


https://dl.doubtnut.com/l/_51nQwWatcs2g
https://dl.doubtnut.com/l/_FbWiwHgt7ax4

Explain the reason why the rate of chemical

reaction is increased here ?

° Watch Video Solution

79. Sulphur pieces do not react with cold
concentrated nitric acid . But sulphur powder
reacts.

Suppose you want to incease the rate of
reaction again. Which way you would choose ?

Give reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_FbWiwHgt7ax4
https://dl.doubtnut.com/l/_JjUIWeUwqDkR

80. Small amounts of phosphoric acid is
usually added to hydrogen peroxide to
prevent its decomposition ?

What is the function of phosphoric acid here ?

° Watch Video Solution

81. Small amounts of phosphoric acid is usually
added to hydrogen peroxide to prevent its

decomposition ?


https://dl.doubtnut.com/l/_JjUIWeUwqDkR
https://dl.doubtnut.com/l/_PtzHZKbFa1cB
https://dl.doubtnut.com/l/_s5yT4wF5fQg9

By which name are these type of substances

known ?

° Watch Video Solution

82. Small amounts of phosphoric acid is
usually added to hydrogen peroxide to
prevent its decomposition

Which substance would you add to increase
the rate of decomposition of hydrogen

peroxide ?

o Watch Video Solution



https://dl.doubtnut.com/l/_s5yT4wF5fQg9
https://dl.doubtnut.com/l/_5vRUQHosGIei

83. Find the oxidation number of the elements
which are underlined in the compounds given
below. Among these find out the elements
which show variable oxidation numbers.

MmnQOs (Hint. Oxidation number o =-2, Cl =-1,K

= +1)

o Watch Video Solution

84. Find the oxidation number of the elements

which are underlined in the compounds given


https://dl.doubtnut.com/l/_5vRUQHosGIei
https://dl.doubtnut.com/l/_L9I7PA7KuoaZ
https://dl.doubtnut.com/l/_YBzIOgQkLL8H

below. Among these find out the elements
which show variable oxidation numbers.
MnoO7 (Hint. Oxidation number o =-2, Cl = -1,

K=+1)

° Watch Video Solution

85. Find the oxidation number of the elements
which are underlined in the compounds given
below. Among these find out the elements

which show variable oxidation numbers.


https://dl.doubtnut.com/l/_YBzIOgQkLL8H
https://dl.doubtnut.com/l/_VQ0G0fOqWeOx

K5C7ry07 (Hint. Oxidation number o = -2, Cl =

1, K = +1)

° Watch Video Solution

86. Find the oxidation number of the elements
which are underlined in the compounds given
below. Among these find out the elements
which show variable oxidation numbers.

KCrOsz (Hint. Oxidation number o =-2, Cl = -1,

K=+1)

o Watch Video Solution



https://dl.doubtnut.com/l/_VQ0G0fOqWeOx
https://dl.doubtnut.com/l/_TbzpNmVtzgT7

87.Find the oxidation number of the elements
which are underlined in the compounds given
below. Among these find out the elements
which show variable oxidation numbers.

MnCl, (Hint. Oxidation number o =-2, Cl = -1,

K=+1)

o Watch Video Solution

88. Find the oxidation number of the elements

which are underlined in the compounds given


https://dl.doubtnut.com/l/_TbzpNmVtzgT7
https://dl.doubtnut.com/l/_7iEFYNt7szXa
https://dl.doubtnut.com/l/_n833BvMiOHe2

below. Among these find out the elements
which show variable oxidation numbers.
MgO (Hint. Oxidation number o =-2,Cl =-1, K =

+1)

° Watch Video Solution

89. Find the oxidation number of the elements
which are underlined in the compounds given
below. Among these find out the elements

which show variable oxidation numbers.


https://dl.doubtnut.com/l/_n833BvMiOHe2
https://dl.doubtnut.com/l/_nbyXphu2EUNX

MgCl, (Hint. Oxidation number o =-2,Cl =-1,K

= +1)

° Watch Video Solution

90. Find the oxidation number of the elements
which are underlined in the compounds given
below. Among these find out the elements
which show variable oxidation numbers.

Al,O5 (Hint. Oxidation number o =-2, Cl =-1,K

= +1)

o Watch Video Solution



https://dl.doubtnut.com/l/_nbyXphu2EUNX
https://dl.doubtnut.com/l/_5yjhGPVPBE71

91. Find the oxidation number of the elements
which are underlined in the compounds given
below. Among these find out the elements
which show variable oxidation numbers.

AlCl3 (Hint. Oxidation number o =-2,Cl =-1,K

= +1)

° Watch Video Solution

92. Some apparatus and chemicals are given.

Zn, Mg, dilute HCl, CaCQOj test tube, water.


https://dl.doubtnut.com/l/_5yjhGPVPBE71
https://dl.doubtnut.com/l/_ipAIisdsbZy0
https://dl.doubtnut.com/l/_vQF2YbkZFclo

Design an experiment to prove that the nature

of reactants can influence the rate of reaction.

o Watch Video Solution

93. Some apparatus and chemicals are given.
Zn, Mg, dilute HCl, CaC Qs test tube, water.
Write the equations for the chemical

reactions.

o Watch Video Solution



https://dl.doubtnut.com/l/_vQF2YbkZFclo
https://dl.doubtnut.com/l/_1GdgQtdyThnp

94. Some apparatus and chemicals are given.
Zn, Mg, dilute HCl, CaCQOj test tube, water.
Write the expression for the rate of the

reaction.

o Watch Video Solution

95. The experiments conducted by two
students are given below.
Experiment 1. 2mL of sodium thiosulphate

solution is taken in a test tube, heated and to


https://dl.doubtnut.com/l/_NQWN6nhjJcMv
https://dl.doubtnut.com/l/_iOLKnk8w3aIf

it 2 mL of HCl solution is added.

Experiment 2: 2 mL of sodium thiosulphate
solution is taken in a test tube and to it 2 mL
of HCl solution is added.

In which experiment is the precipitate formed

quickly ? justify your answer.

o Watch Video Solution

96. The experiments conducted by two
students are given below.

Experiment 1: 2mL of sodium thiosulphate


https://dl.doubtnut.com/l/_iOLKnk8w3aIf
https://dl.doubtnut.com/l/_kibAoYJzQoSL

solution is taken in a test tube, heated and to
it 2 mL of HCl solution is added.

Experiment 2: 2 mL of sodium thiosulphate
solution is taken in a test tube and to it 2 mL
of HCl solution is added.

Write the balanced equation for the reaction.

o Watch Video Solution

97. Some materials available in the laboratory
are given below. Magnesium ribbon, marble

powder, marble pieces, dilute HCI,


https://dl.doubtnut.com/l/_kibAoYJzQoSL
https://dl.doubtnut.com/l/_xGvrJdwFTucr

concentrated HC|
Which material will you choose for the

preparation of more COs in less time ?

o Watch Video Solution

98. Some materials available in the laboratory
are given below. Magnesium ribbon, marble
powder, marble pieces, dilute HClI,
concentrated HCl

Write the balanced chemical equation of the


https://dl.doubtnut.com/l/_xGvrJdwFTucr
https://dl.doubtnut.com/l/_p15971h7ZezM

reaction for preparation of Carbondioxide in

less time

° Watch Video Solution



https://dl.doubtnut.com/l/_p15971h7ZezM

